
Assemble Guide
server rack

GeekRacks.com
GeekRacks



Assemble the frame with 
the bottom plate. 
Use HEX SOCKET CAP 
SCREWS: 
M8*12 and Hex Flange Nut)

Warning: Make sure that 
the framethe frame’s side with the 
rectangle holes is on the 
external side.
 

Assemble the frame with 
the top plate by using the 
same screws as above (step 1).

Assemble the leveling Assemble the leveling 
feet and the castors 
(using the following 
screws: M6*M12).

GeekRacks.com
GeekRacks Assemble Guide

server rack P1

External side
(facing out)



Assemble the cable entry
cover. Use the self tapping screw:
M3.5*6

Assemble the horizontal rail.
Use screws: 
M6*M12 and catch nut.

WWarning: Don’t put the 
horizontal rail exactly in 
the middle of the high. 
This space needs to 
remain free.

Assemble the 4 mounting angles. 
Use screws: M6*M12 
and catch nut.and catch nut.

Assemble the front and 
the rear door with the door locks.

GeekRacks.com
GeekRacks Assemble Guide

server rack P2

x x



Screw the 4 little metal 
pieces on each side of the rack 
by using the screws: M3.5*6. 
Then assemble the side panels.

GeekRacks.com
GeekRacks Assemble Guide

server rack P3


